


                              

                                                                  GEOGRAPHY 

1. COMPLEAT ART INTEGRATED PROJECT TOPIC SCRUPTURES AND MONUMENTS OF 
ANDHRA PRADESH. 
 

2. DO CH 1,2 IN PRACTICAL FILE. 
 

3. LEARN CH 4,7 FROM BOOK 1 AND CH 2 FROM BOOK 2. 
 

4. DO MAP PRACTICE. 
 

5. SOLVE PT 1 IN NOTE BOOK. 

 





HOLIDAYS HOMEWORK OF  

HISTORY 

CLASS = 11 C 

1.Read and understand 

lesson no . 5 and 6 of NCERT 

2.Make a portrait of Sardar 

Vallabh Bhai Patel and also 

write something about him . 

3.Write briefly about INA 

(Indian National Army ) in a 

project file. 

 



 
 

TRIGONOMETRIC IDENTITIES 

𝒔𝒊𝒏𝟐𝜽 + 𝒄𝒐𝒔𝟐𝜽    = 𝟏 

𝒄𝒐𝒔𝒆𝒄𝟐𝜽 − 𝒄𝒐𝒕𝟐𝜽 = 𝟏 

  𝒔𝒆𝒄𝟐𝜽 − 𝒕𝒂𝒏𝟐𝜽    = 1 

 

 

 

 

ADDITION & SUBTRACION FORMULA 

 

𝐬𝐢𝐧(𝑨 + 𝑩) = 𝐬𝐢𝐧 𝑨 𝒄𝒐𝒔𝑩 + 𝒄𝒐𝒔𝑨 𝒔𝒊𝒏𝑩 

𝐬𝐢𝐧(𝑨 − 𝑩) = 𝐬𝐢𝐧 𝑨 𝒄𝒐𝒔𝑩 − 𝒄𝒐𝒔𝑨 𝒔𝒊𝒏𝑩 

𝐜𝐨𝐬(𝑨 + 𝑩) = 𝐜𝐨𝐬 𝑨 𝒄𝒐𝒔𝑩 − 𝒔𝒊𝒏𝑨 𝒔𝒊𝒏𝑩 

𝐜𝐨𝐬(𝑨 − 𝑩) = 𝐜𝐨𝐬 𝑨 𝒄𝒐𝒔𝑩 + 𝒔𝒊𝒏𝑨 𝒔𝒊𝒏𝑩 

 

𝐭𝐚𝐧(𝑨 + 𝑩) =
𝒕𝒂𝒏𝑨 + 𝑻𝒂𝒏𝑩

𝟏 − 𝒕𝒂𝒏𝑨 𝒕𝒂𝒏𝑩
 

 

𝐭𝐚𝐧(𝑨 − 𝑩) =
𝒕𝒂𝒏𝑨 − 𝑻𝒂𝒏𝑩

𝟏 + 𝒕𝒂𝒏𝑨 𝒕𝒂𝒏𝑩
 

𝒔𝒊𝒏𝑪 + 𝒔𝒊𝒏𝑫 = 𝟐 𝐬𝐢𝐧 (
𝑪 + 𝑫

𝟐
)   𝒄𝒐𝒔 (

𝑪 − 𝑫

𝟐
) 

𝒔𝒊𝒏𝑪 − 𝒔𝒊𝒏𝑫 = 𝟐 𝐜𝐨𝐬 (
𝑪 + 𝑫

𝟐
)   𝒔𝒊𝒏 (

𝑪 − 𝑫

𝟐
) 

𝒄𝒐𝒔𝑪 + 𝒄𝒐𝒔𝑫 = 𝟐 𝐜𝐨𝐬 (
𝑪 + 𝑫

𝟐
)  𝒄𝒐𝒔 (

𝑪 − 𝑫

𝟐
) 

𝒄𝒐𝒔𝑪 − 𝒄𝒐𝒔𝑫 = −𝟐 𝐬𝐢𝐧 (
𝑪 + 𝑫

𝟐
)  𝒔𝒊𝒏 (

𝑪 − 𝑫

𝟐
) 

 
𝟐 𝒔𝒊𝒏𝑨 𝒄𝒐𝒔𝑩 = 𝐬𝐢𝐧(𝑨 + 𝑩) + 𝐬𝐢𝐧 (𝑨 − 𝑩) 
𝟐 𝒄𝒐𝒔𝑨 𝒔𝒊𝒏𝑩 = 𝐬𝐢𝐧(𝑨 + 𝑩) − 𝐬𝐢𝐧 (𝑨 − 𝑩) 

𝟐 𝒄𝒐𝒔𝑨 𝒄𝒐𝒔𝑩 = 𝐜𝐨𝐬(𝑨 + 𝑩) +  𝒄𝒐𝒔(𝑨 − 𝑩) 

𝟐 𝒔𝒊𝒏𝑨 𝒔𝒊𝒏𝑩 = 𝐜𝐨𝐬(𝑨 − 𝑩) − 𝒄𝒐 𝒔(𝑨 + 𝑩) 

 

 

𝛉 𝟎 𝟑𝟎𝟎 (
𝛑

𝟔
) 𝟒𝟓𝟎 (

𝛑

𝟒
) 𝟔𝟎𝟎 (

𝛑

𝟑
) 𝟗𝟎𝟎 (

𝛑

𝟐
) 𝟏𝟖𝟎𝟎  

𝒔𝒊𝒏𝜽 𝟎 𝟏

𝟐
 

𝟏

√𝟐
 √𝟑

𝟐
 

𝟏 𝟎 

𝒄𝒐𝒔𝜽 𝟏 √𝟑

𝟐
 

𝟏

√𝟐
 

𝟏

𝟐
 

𝟎 −𝟏 

𝒕𝒂𝒏𝜽 𝟎 𝟏

√𝟑
 

𝟏 √𝟑 ∞ 𝟎 

𝑐𝑜𝑠𝑒𝑐𝜃 ∞ 2 √2 2

√3
 

1 ∞ 

𝑠𝑒𝑐𝜃 1 2

√3
 √2 2 ∞ −1 

𝑐𝑜𝑡𝜃 ∞ √3 1 1

√3
 

0 ∞ 

Quadrants I II   + III    + IV   + 

T-Ratios 

𝜽 

All + Sin 𝜽 

Cosec 𝜽 

Tan  𝜽 

Cot 𝜽 

Cos 𝜽 

sec 𝜽 

𝟏𝟎 =
𝝅

𝟏𝟖𝟎
𝒓𝒂𝒅𝒊𝒂𝒏 

𝟏 𝒓𝒂𝒅𝒊𝒂𝒏 =
𝟏𝟖𝟎

𝝅
𝒅𝒆𝒈𝒓𝒆𝒆 

 

                     AFTER   SCHOOL   TO    COLLEGE 

 

 

       →            AFTER      SCHOOL     TO      COLLEGE 

MULTIPLE ANGLES 

 

𝐬𝐢𝐧 𝟐𝛉  =   𝟐𝐬𝐢𝐧𝛉 𝐜𝐨𝐬𝛉       =  
𝟐𝐭𝐚𝐧𝛉

  𝟏 + 𝐭𝐚𝐧𝟐𝛉
 

 

𝐜𝐨𝐬 𝟐𝛉  =  𝐜𝐨𝐬𝟐𝛉 − 𝐬𝐢𝐧𝟐𝛉  =  𝟐𝐜𝐨𝐬𝟐𝛉 − 𝟏 

                 =   𝟏 − 𝟐𝐬𝐢𝐧𝟐𝛉       =  
𝟏 − 𝐭𝐚𝐧𝟐𝛉

  𝟏 + 𝐭𝐚𝐧𝟐𝛉
 

𝐭𝐚𝐧 𝟐𝛉   =   
𝟐𝐭𝐚𝐧𝛉

𝟏 − 𝐭𝐚𝐧𝟐𝛉
 

 

𝐬𝐢𝐧𝟑𝛉 = 𝟑𝐬𝐢𝐧𝛉 − 𝟒𝐬𝐢𝐧𝟑𝛉 

𝐜𝐨𝐬𝟑𝛉 = 𝟒𝐜𝐨𝐬𝟑𝛉 − 𝟑𝐜𝐨𝐬𝛉 

𝐭𝐚𝐧𝟑𝛉 =
𝟑𝐭𝐚𝐧𝛉 − 𝐭𝐚𝐧𝟑𝛉

𝟏 − 𝟑𝐭𝐚𝐧𝟐𝛉
 

𝟏 − 𝒄𝒐𝒔𝟐𝜽 = 𝟐𝒔𝒊𝒏𝟐𝜽 

𝟏 − 𝒄𝒐𝒔𝜽 = 𝟐𝒔𝒊𝒏𝟐𝜽/𝟐 

𝟏 + 𝒄𝒐𝒔𝟐𝜽 = 𝟐𝒄𝒐𝒔𝟐𝜽 

𝟏 + 𝒄𝒐𝒔𝜽 = 𝟐𝒄𝒐𝒔𝟐𝜽/𝟐 

 

 

 GENERAL SOLUTIONS 

 

𝒔𝒊𝒏 𝜽 = 𝟎 ⇒ 𝜽 = 𝒏𝝅   ; 𝒏𝝐 𝒁 

𝒕𝒂𝒏 𝜽 = 𝟎 ⇒ 𝜽 = 𝒏𝝅   ; 𝒏𝝐 𝒁 

𝒄𝒐𝒔 𝜽 = 𝟎 ⇒ 𝜽 = (𝟐𝒏 + 𝟏)
𝝅

𝟐
 ; 𝒏𝝐 𝒁 

𝐬𝐢𝐧 𝜽 = 𝐬𝐢𝐧 𝜶 ⇒  𝜽 =  𝒏𝝅 +  (−𝟏)𝒏 𝜶 ∶ 𝒏 ∈  𝒁 

𝐜𝐨𝐬 𝜽 = 𝐜𝐨𝐬 𝜶 ⇒  𝜽 =  𝟐𝒏𝝅 ±   𝜶 ∶ 𝒏 ∈  𝒁 

𝒕𝒂𝒏𝜽 = 𝐭𝐚𝐧 𝜶 ⇒  𝜽 =  𝒏𝝅 +   𝜶 ∶ 𝒏 ∈  𝒁 

 

 

Negative angles 

𝒔𝒊𝒏(−𝜽) = −𝒔𝒊𝒏𝜽                    𝒄𝒐𝒔𝒆𝒄(−𝜽) = −𝒄𝒐𝒔𝒆𝒄𝜽   

𝒕𝒂𝒏(−𝜽) = −𝒕𝒂𝒏𝜽                        𝒄𝒐𝒕(−𝜽) = −𝒄𝒐𝒕𝜽  

𝒄𝒐𝒔(−𝜽) = 𝒄𝒐𝒔𝜽                            𝒔𝒆𝒄(−𝜽) = 𝒔𝒆𝒄𝜽 

 

𝒔𝒆𝒄(−𝜽) = 𝒔𝒆𝒄𝜽 

 

 

TRIGONOMETRIC FORMULA 
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